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General Guidelines for Students:

1. Do the homework in the WORKSHEET notebook.
2. Presentation carries marks.
3. Number the questions in serial order.

4. Draw neat diagrams wherever necessary and label the parts
neatly and clearly.
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17=-3x dx+2 Tx+14
8) s =5—-6x+

9 (Sx=1)(x+3)-(x-5)(5x+1)=40

y=(7-8y) 2
10) = =
9y —=(3+4y) 3

2. The sum of four consecutive odd numbers is 368. Find its numbers
3. A number consisting of two digits becomes - of uself, if its digits are interchanged. If

the difference of the digits is 1, find the number.

4.5 years ago, father’s age was 7 times the age of his son. § years later, the father’s age
will be 3 times the age of his son. Find their present ages.

5. One number is 4 times the other number. If 6 is added to the smaller number and 4 is
added to the larger number, then the later number becomes twice the other number. Find
the numbers.

6. Angle C of a triangle ABC is the sum of the other two angles A and B. If the ratio of
< Aand < Bis3:2,find the measure of all the three angles.

7. A number is as much greater than 31 as is less than 81. Find the number.

8. A number consists of two digits whose sum is 5. If we add 9 with the number, the
digits in the number are interchanged.

9. 10 years ago, a man’s age was 6 times the age of his son. 12 years later, the age of the
son will be 27 years. What is the present age of the father ?
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10. The perimeter of a rectangle is 9 times its breadth. I its length is 3cm more than twice

its breadth, find the dimensions of the rectangle.
I'l. The ages(in years) of Ram and Shyam are in the ratio 5:7. If Ram is 9 years older and

Shyam is 9 years younger. The age of Ram would have been twice the age of Shyam.
Find their ages,
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Solve the following equations.

3
1. 5 15

3 8r—4x-3)=2x
8. 2-30Cx+1)=27 - 6x)

3 -

L ix 4x

9, 3x _x-1_ x—]|
-4 2 3

1. Sy- £l —gp e L
1 x—2 x—1
B 1 =

I“":’: 4 8
2x—-5 _ 3

15 S5x+2 22
4x—-3 _ 3

17. %t E ™ D
3y=(8-5y) _

e Ty—03+2y) =2
x_3

21. .Lizz?i
4_4, 20
3

23. 8x+3 _  d4x

2(x-2) x-5

25. :I:-l-":"l='b_aI
x—a b+a

10.

12
14.

16.

18.

20.

22,

24,

x-5 _
= 3

3
E_}r+2y=% +4y -3
0.3(6 + x) = 0.4(8 — x)

- N -
5 2x 10
3-5x _x_1 ., 5—4x
7 e 2 8
4 -2= 5"‘-_11
4x—-2 _ 23 _ Tx+5
3 = 13-5( )
5-Tx _ B
2(1+ 2x) 7
15(5 = x) — 7(x + 9) —a
| —5x o
(x +1)(x+2) -3
{.‘r+ll](:—2] B
3
=T s
%x—d 4
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1. The difference of two numbers is 15 and their ratio is 3:2. Find the numbers.
2. One-sixth of a cerain number decreased by 4 is equal to 1. Find the number.
3. Four-fifths of a number is 20 less than the original number. Find the number.

4. One number is 3 times another number. If 15 is added to both the numbers, then one of the
new numbers becomes twice that of the other new number. Find the numbers.

5. Three numbers are in the ratio 2:3:4. If the sum of the largest and the smallest equals the
sum of the third and 33, find the numbers.

6. Two numbers are such that the ratio between them is 3:5. If each is increased by 5, the
ratio between the new numbers so formed is 2:3. Find the original numbers.

7. Find three consecutive even numbers whose sum is 186.
8. Find three consecutive odd numbers whose sum is 165.

9. The sum of three consecutive multiples of 7 is 777. Find these multiples,

10. The numerator of a fraction is 3 less than the denominator, If both the numerator and denominator
are increased by 2, the new fraction becomes % Find the original fraction.

The denominator of a rational number is greater than its numerator by 3. If numerator is
increased by 14 and denominator is decreased by 3, the new number becomes 1. What is
the original number?

12. A number has two digits. The digit at
is subtracted from the number,

1.

tens place is four times the digit at units place. If 54
the digits are reversed. Find the number,

13. Sum of the digits of a two-digit number is 9. The number obtained by interchanging the
digits exceeds the given number by 27. Find the original number.

14. The length of a rectangle exceeds the breadth by 6 cm. If the length is increased by 3 cm
and breadth decreased by 2 cm, the arca remains the same. Find the length and breadth of
the rectangle.

15. The angles of a triangle are 3x°, (2x + 20)° and (5x — 40)°. Find the angles, Hence show
that the triangle is an equilateral triangle.

16. One angle of a triangle is equal to the sum of the other two, If the ratio of the other two
angles is 7:8, find the angles of the triangle,

17. The altitude of a triangle is three-fifth of the length of the corresponding base. If the

altitude is decreased by 4 cm and ‘!"‘-‘ corresponding base is increased by 10 ¢m, the area
of the triangle remains the same. Find the base and the altitude of the triangle,
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Q1 Solve:—3(x+2)=- 12

Q25+5=20

Q3I-2eg=7

QéTus2=-12

05 IN 3 « 2= 1L ihen fimd the value of fix « 4,

Q 6 Solve the following equstion: 2(Th « 12)= 24

Q74-S=-21

QHIN v =T = 26, then lind the vabae of the expression (1 - 3)

Q % Sum of three comsecutive oven insegers is 270, Find the mcpen,

Q 10 Sumn of two sumbers is 52; i second pamber is 10 more than i, fisd the number.
Q 11 Sum of three consecutive multiples of 7 is 777 find ibe numben.

(2 12 The ratio of two complementary angles s 4 © 5 Find these sagles amd ratio of thest supplementary anghes.

Q13 Nesha has reciangular plot of land thet has been fenced with 300m long wires. Find ihe dimensions of the plot, if is length is
tasce the breasdth,

Q 14 The length of o rectangle is 13 cm more thas is width. The porimcter & 150 oo, Fissd the dimensions of the rectungle.
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Exponents & Powers

1. Find the value of each of the following
13°
53

1-'-

1°

(-3)*

(=1)°

2. Simplify
a 3x10°
b. 2°X5§°
c. 0x10'

3
a (3)
e« (2)
3. Express each of the following in exponential form
v (F)xF)=xF) =)
b. =5 x-5x-5
. xXxXxxxxaxaxbxbxb

d (-2) x(-2)x(-2) x(-2) xaxaxa
4. Express each of the following numbers as a product of powers of their prime

T e

~ 0o RO

factors.

a 36 b. 675 c. 392 d.864 e. 450 f.1800
5. Using laws of exponents , simplify

(1) 3% 3°

G) ((73)32+7

iy 2°° +2°

v) 2% x 5°

v (2°+ 3914+ 67

F ?,
(v1) F

6. Simplify and express each of the following in exponential form :
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Illr

(1) 2’ x 29

54510 25 5 9% (x2)°
(iv) —'rs* {\'](E) X(E) (v1) X ) -

S%xx7 yt s) “Wntx(x®)2
32x79x136 10 x5"*1425 x5M
215918 Mo o xsnet

Write the numbers in expanded forms :

a) 20068 (b) 423719 (c) 680071

Find the number :

@5 x 10°+ 4x10* +2x 10% + 3 x 10°

()9 x 10%° + 8x 10* + 7 x 10° + 6 x 10°

(©)3 x 10* + 4x10° +5x 10°

Express in the standard form :

(vii)

(ii)(3* x 3°)? Gii) [(2%)* x 28] = 2%

(d)5004132

(a) 3.18.65.00,000 (b) 786.3 x 10* (c) 5,00,00,000

(b) 42634.7 (d) 4786. 3460

10. Write the numbers in the usual form :

(a) 4.83 x 107 (b) 3.64 x 10° (©)7.3 x 10°
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munenls (Powers)

1. Simplify and write in exponential form:

a. (—5)*(-5)* b P3 X P10
c. 35x3-10x3¢ d. (2: zﬂ)ix 2-5
e. (—4)7 X (5)°X (-5)73 ¢ -3y’
BgX3” b (—4)° + (4)°

2. Find the value of:
3 [or-or] ¢

Sy-7 8,5
c. (E) X (5)
271x471)+2"1

d.(3°+41) x 2?2

1 -2 1. 1,2
LR+

_2 .
s (3144714 510 b {(5)7%)°
g8~1xs53
. T T R =)
S JOTX2™HX 6
5. = 8
k(G -G LE)TXE)™
m _2sxg~* n. 37° X 1073 x 125
53 x10xt~* 6° X 67°

3. Evaluate :

a 372 b-4)7 . (%)'5 d.1/3° L Z*
4. Find the multiplicative inverse of the following :

a2™* b. 1073 e. T d.573

e. 107200
5.1f %;é)“ - (%)“ Find the value of (f)‘ if m=—3 n=4

6. Find the value of X~

340
&)
7. What should (g-)"ahc divided so that the quotient becomes 97

2 ___2"3+
lf!i—{5)

2
8. What should (;)‘ be multiplied so that product becomes 25?
9. Express each of the following rational number in exponential form:
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1 —25 64 243000

343 ‘216 “27 o 729000
10. Simplify and express the result as powers of 2:
N [(2)3]4 = {(%)4}1 b. (3° + 5%+ 4%+29
11. Express the following as a rational number:
LG ()} ii. (=)
iv. 1—;~ i v. ("-f')3 vi. (_':‘;)2

12. Express the following as a rational numbers in power notation:

. 81 g, =27 i, 2226 v, 218
t 256 = 125 - -512 v 81
256 .1 ! . 100
V. Vi vil.— vill.——
6561 -32125 64 9261
13. Simplify:
L [-173-(7/58] X (3/5F i (-3/8Y X4 X (23¢

iii. [(4/5)2 +(5/-7)] X (2/5) + (4/58
iv.(IBF X (5167 + [(3)* - (D)) + @op
14. Find the reciprocal of:
i) (773 ii) (g}5 iii) (-6)* iv) (¥-3)?
x (3/-4P v) (273 = (3/472
15. Find the absolute value of :
iN2/3) ii) (-4/7)2 iii) ((5/-8)° iv) (-11/13)2

16. Which of the two rational numbers (-3/5) and (3/5) is smaller? Insert four rational
numbers between them.

17. Find the product of the cube of (-2/3) and the square of (4/-5).

18. Fill in the blanks:

D (—2)*x(-2)°=(2 i) (—3)* = (=3)*° =(1/-3)___iii) (42 =

i 2 F 4
@ iv(—>)®+(—2)*=¢0 ____
b | p= | 2
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4 4.9 *%
VR XE =) — 6T = 0
19. Simplify:
i) (3/4)2 x (3/4P i) (-27P x (-27)
iii) (—7/8)* = (-7/8p iv)(1/32p

20. Simplify and express the result in power notation:

i) (7/—4)* X (7/-4)% ii) (3/8)*%+ (3/8)%
iii) (-572° = (—5/2) iv)[(-3/4)2P
v) (-5/7) = (-5/7p vi) [(-3/4PP

vii) [(-5/ 1))

21. Find the value of:

)3~ ii) (—4)7* i :E)"
ron (=2 3 y-3 . -1
i) (57) v () vi) (=3)

22. Express the following as a rational number with positive exponent by using laws of
exponents:

i (3/4)7° i —7/8)73 i) [(373)%] iv)3~*
x 3-2 v (3)™* = (5)* vi)37x 34+ 3°

23. Express the following as a rational number with negative exponent by using laws of

exponents:
iy (1/3)* i) [(3%)%]
i) —42 X —43 x —4’ iv) (5/—6)% X (— -E)’ % 1/-6
v [(-3/8%)%]
24 Find the value of :

3 3+3+8
i) 5° i) 2°+4°+ 5° iif) (:)

Scanned with CamScanner



iv) (—7)5878710 V) (2°X4° 57439+ 7T°

25. By what number should we multiply 5™ so that the product may be equal to 25 ?
26. By what number should 7% be divided so that the quotient may be equal to 772 7
27. Find the value of x, such that (3/5)™% X (3/5)7*% = (3/5)75~.

28. Find the value of y, such that (2/-3)"% X (=2/3)7% = (=2/3)7>*2

29. Find the reciprocal of the rational number :

(2/3)72 X (677 ) + (37 X (3/4)73
30.16x=(2/3)7" + (4/6)° X 3y find x~*

311 y= (52 X (5/3)% then find the value of y*.

32) Find the value of b if

)4 X 4% =42 b)8°/8" =8

c) (677)° X (67 = (&7 d) (1727 (12)* = (12)*
33) Simplify

i) (173" + (1/6)"1* X 42
ii) (5/-6)" / (5/-6)" = [(5/6)°T
iii) (-7 X (-7’ = (-7)°
iv) [(12)* = (173)] X (1/4)°
v (67 X (67)° X (122)* X (3/5)°
vi) (572 X 572)" X (2312 X 116
34) Express in positive exponents
a) (127 b)) (377 o (:3)° d)(2)°
35) Simplify and express with positive exponents.

a) (/5 X (6)*
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—_—
b) (3/5)” X (10/9)

) (3" X (-19)"
d) [(54)° X @5)°]"
36) a) By what no. should (1/5)° be multiplied so that the product becomes 15.
b) By what no. should (7/1 1)" be multiplied so that the product becomes (13/15)".
37) a) By what no. should (3/7 }': be divided so that the quotient becomes 7.

b) By what no. should (-18)" be divided so that the quotient may be equal to (-3)".

Scanned with CamScanner



I. Find x, if
1. *+22 4+ =4

2. X =2 +4+5 4+ 6

|
=]
-
E
-
=]

II By what number should (- = )" be divided so that the quotient be 49 ?

I Simplify : -E“:b T '!Ex:] .ri'[""}

x®

-1
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Rational Numbers
1. Using appropriate properties find:

ol xiei-1l-

2 -3 -1
ix[2+(2)-
5 7 6

2. Write the additive inverse of each of the following :

2 =5 6 o2 .
wg  ® ©= @ =

3, Verify that (—X) = X for

o =13
lu}.t—ls (b) x= 17

4. Find the multiplicative inverse of the following :

-13 1 -5 -2
-13 — e — X — —3 W — ;-1
(a) (b) 5 (c) - (d) - > © 1 : (H

5. Name the property under multiplication used in each of the following :
-4 -4
— X1=1X—
WS .

5. Name the property under multiplication used in each of the following:

-4 -4 =4 -13 -2 -2 -13
— X1=1X—=— X —=—X
W~ 1=1 s =% @0 i -

-19 29
) — X —=1
29 -19

[ -7
6. Multiply — by the reciprocal of —
Ii’lr'l3 ¥ recip o 16

1 4 1 4
7. Tell what property allows you tncumpum;x [6 X ;]ns[; X 6] X 2

8 1
8. Is ;the multiplicative inverse of — 1 [E] ? Why or why not?
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9. Is 0.3 the multiplicative inverse of 3 E]Why or why not?
10. Write:
(a)The rational number that does not have a reciprocal.
(b)The rational numbers those which are equal to their reciprocals.

(¢)The rational number that is equal to its negative.

11. Fill in the blanks:

(a)Zerohas_________ reciprocal.
(b)The numbers and are their own reciprocals.
(¢)The reciprocal of -5 is

(d)Reciprocal of 1/x, where x =0 is
(e)The product of two rational number is always a

()The reciprocal of a positive rational number is

12. Represent these numbers on a number line:
7 " -5
(@7 (b) e

-2 -5 -9
11 11" 11

13. Represent on the number line.

14. Write five rational numbers which are smaller than 2.

-2 1
15. Find ten rational numbers between ? and E

16. Find five rational numbers between:
PO SR TN ©> and >
— — —and— - —
™ 2 "3 % 2

17. Write five rational numbers greater than —2
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3 3
18. Find ten rational numbers between g and —

o.vma 2+ [55]+ [55] +5

—4 3 -14
20, — x— —>< _—
i 5 9

21. Wnite the additive inverse of the following:

-7 21

y— (b) —
@79 112

22. Verfy that — (-x) is the same as x for:

® 13 b) —-21
X = X=
7 t 31

2% T T
23.Fid - — - - — - - X=
5 7 14 7 S

24, Wnite any three rational numbers between -2 and 0

-5 5§
25. Find any ten rational numbers between '—E"'nnd E

1 1
26. Find a rational number between ; andE

1 1
27. Find three rational numbers between :imd *z“
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Fill in the blanks

has no reciprocal.
There are numbers of a rational numbers between any two
numbers.

The product of a number and its multiplicative inverse is
Sum of a number and its negative is
is the multiplicative identity.
is the additive identity,
Additive inverse of 3is v

Multiplicative inverse of -2 is
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Exponents And Powers
Q.1. Express the following in standard form:

(i) Mass of Earth = 5,976.000,000,000,000,000,000,000 ka=
(i)  The distance between sun and earth 149,600,000,000m =
(iii) 0.00072984=
(iv) 4 < 100000=

Q.2. Express the following numbers in usual form:

(i) 3.61492 x 10°=
(i) 754x10"%=
(iii) 3 x 107 =
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Q.3. For a non zero rational number ‘a’, a’ + a'? is equal to

Q.4. Find the value of x
j—II-= g = 2.3 2»"'t'= 21"" L
() 29=1 (Ansx=3) (i) (%)°x(&)*=(&)7 "(Ans:-1)
(iii) 3" =é (Ans:x=-2) (iv) 22*% = 4> (Ans: 2)

Q.5. Simplify:
(i) 23xH0NP
20¢yiP

(i) {[%]""—Eél*’}ﬂi]'*

(iii) (6 =8 + (27 -3
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Q | Find the value of
a 2°

by 2

Q 2 Find the value of (1/2)".

Q 3 Calculate the value of 2* x 2*

Q 4 What is the exponential notation of ( 2°)°

Q 5 Simplify and express in positive exponential form.

3" x¢-3 "
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Q 6 Simplify the following exponents

-2y x (-3)* x (-5)°

Q 7 Find the value of n in the given expression:

Il‘i-ull \ 2!. - zlil

Q 8 Find the value of p in the given expression

C3HPE3T=(3)

Q 9 Write the given expressions in expanded form.
a) 3456234

b) 2016.123

Q 10 Express the following numbers in their standard form.
a)  0.00000000004 68
b) 0.345
¢} 372400000000000

d) 76100000000

(0 11 Express the following numbers in their usual form:
a) 305x10"
b) 4.5x10*

¢) 3.1563x10°
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ACTIVITIES:
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1. Learn table from 1 to 25

2. Learn square roots and square upto 30.

3. Learn cube roots and cube up to 30.

4. Write and learn the properties of chapter -1

5. Write and learn the laws of exponents from
chapter -2
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Do as directed:

(a) Looking at the tables given below make the grids for square of
5, square of 7 and square of 8.

32 1 2 3 4

22 1| 2|3 5 6 7 8

12 4 5 6 9 10 11 12

3 | 4 7 8 9 13 14 15 16
2x2=4 3x3=9 4x4=16

(b) The middle number on each line is the difference between the
two outside numbers.

37 20

31\1 < \1

26 22

¢ o 11

Prepare a grid which follows a definite shape and pattern of
numbers.
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(c) A grid with magic number 15 is given in the figure where the
sum of the rows, sum of the columns and sum diagonally is
15.

9] | 7 e--15
|9 | E 1--15
4|3 8-15
'S ER

15 151515 15

Prepare a grid with magic number 30. You can choose any set
of numbers in sequence but the numbers should not be
repeated.
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HOLIDAY HOMEWORK FOR SUMMER VACATIONS

1. Make a model of PLANT CELL or ANIMAL CELL.

2. Write short notes on-
a. Biodiversity
b. Biofuel
c. Biofertiliser
3 .Show on the map of India the following and learn-
a. 5 National Parks
b. 5 Biosphere Reserve
c. 5 Bird Sanctuaries

3. What is a Periscope? Make one periscope and explain its working of periscope .
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Read,
learn, and
have fun
in the
summer
sun!

uuuuuuuuu

Class -Vl
Subject-Computer Science

Project work —

* Draw the models on different types of
topologies in a sheet of paper and describe
each of them that how it is connected to the
computer networks in organisations.

* Research identify and explain one
“infamous” computer virus ( big viruses are
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given names) which infected a great number
of computers at some point in the past.
Explain the damage it caused.

Computer virus.

1.

What is “Trend Micro"?

1. It is anti-virus software
2. It is just a program
3. It is virus program
4. None of the above

What is the name of the viruses that fool a user into downloading
and/or executing them by pretending to be useful applications?

1. Cracker

2. Worm

3. Trojan horses
4. Keylogger

The virus that spread in application software is called as

1. Boot virus
2. Macro virus
3. File virus

4. Anti virus

How does a Le-Hard virus come into existence?

1. Hardware
2. Software
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3. FRIDAY 13
4. Command.Com
5. What is the virus that spread in computer?

1. It is hardware
2. It is system software
3. It is a computer program
4. It is a windows tool
6. What kind of attempts is made by individuals to obtain confidential
information from a person by falsifying their identity?

1. Computer viruses

2. Spyware scams

3. Phishing scams

4. None of the above.

When does the time bomb occur?

-

1. During a particular logic and data

2. During a particular time

3. During a particular data or time

4. None of the above

Delayed payload of some viruses is also called as

o

1. Time
2. Bomb
3. Anti-virus
4. None of the above
9. What is the first boot sector virus?

1. Brain
2. Mind
3. ELK cloner
4. None of the above.
10. What is the name of first computer virus?

1. The Famous
2. HARLIE
3. PARAM
4. Creeper
11. What is anti-virus?

1. It is a computer
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2. It is a program code
3. It is a company name
4. It is an application
12. Which one of the following statement is true for Assembly language?

1. This language need not be translated into machine language. 2. It is
the easiest language to write programs 3. It uses alphabetic
codes.
4. All of the above
13. Which language can be directly understood by the CPU?

1. Assembly language
2. Java
3.C

4. All of the above
14. Which of the following Is not a type of virus?

1. Boot sector
2. Polymorphic
3. Multipartite

4. Trojans

15. Acomputer
other programs.

1. program

2)virus

3) application

4) worm
16. In which year Apple Il virus came into existence?

is a malicious code which sell-replicates by copying itselfl to

1. 1979
2. 1980

3. 1981

4. 1982
17, infects the master boot record and it is challenging and a complex
task to remove this virus.

1. Boot Sector Virus
2. Polymorphic
3. Multipartite

4. Trojans
18. gets installed & stays hidden in your computer’s memory. It stays
involved to the specific type of files which it infects.
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1. Boot Sector Virus
2. Direct Action Virus
3. Polymorphic Virus

4. Multipartite Virus
14, infects the executables as well as the boot sectors.

1. Non-resident virus 2) Boot Sector Virus
3) Poalymorphic Virus
4) Multipartite Virus

20. __ deletes all the files that it infects.
1. Non-resident virus 2) Overwrite Virus
3) Polymorphic Virus

4) Multipartite Virus
21. Which of the below-mentioned reasons do not satisfy the reason why people
create a computer virus?

1. Research purpose

2. Pranks
3)identity theft
4) Protection
22. The virus hides itself from getting detected by _____ different ways.

1.2
2.3
3.4
4.5
23. There are types of computer virus,
1.5
2.7
3. 10

4,12
24. Which of them is not an ideal way ol spreading the virus?
Linfected website
2 Emalls
3.0fficial Antivirus CDs
4+.USBs
25. are difficult to identify as they keep on changing their type and
signature.

1. Non-resident virus

2. Boot Sector Virus 3.Polymorphic Virus
4.Multipartite Virus
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Define the following terms:-

Torm . Definition
Network

Server
Client
Workstalion
Modom
Nodeo
Routors
Gatoway

IP Address
Domain Name
Syslom [DNS)

Types of Networks

Type . Definition . Example

Local Area Natwork
(LAN)

Wide Area Network
(WAN)

Virtual Private
Notwork (VPN)
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Q1. Name the following:

(a) Work area in visual basic.

(b) Function key used to display output in VB

(c) Tool used to perform some action on the form by
which the output is displayed:

Q2. Write any two uses of computer network.
Q3. Define :

a. Stand Alone Computer b. Network Topology c. A control
in Visual Basic

Q4.Write one point of difference between :

(a) LAN and WAN

(b) Label Tool and Textbox tool

(c) Intranet and Extranet
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True or False-

1. Each topology influences the capabilities of the hardware in ordér to manage the Mow ol
information.
True False

2. Ring topology has no limit to install as many numbers of nodes when extending a
network.

True False
3. Star topology has an average capacity in adding and removing nodes.

True False
4. Star topology has It own host.

True False
5. Ring topology does not have connection between é¢ach node,

True False
6. Bus topology has a central host and all nodes connect to it.

True False

7. In a nng topology, all computers and other devices are connected In a arde.

True False
B. Star topology limits installation of many numbers of nodes when extending a network,

True False
9. Bus network has no dfficulties In troubleshooting.

True False

10. Bus topology can install many numbers of nodes when extending a network.
True False
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Q1.Project work maximum 15 pages
Topic- Resource and its types
Q2.List down the wildlife sanctuary of india and mark them on map.

Q3.Read next chapters in all three subject and try to find exercise and
question answer
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Practice Exercise

A Complete these conversations using this, that, these and those.

| Sujata: What's the matter?
Reema: It ... SCIsSOrs. They are rather blunt. Can I borrow yours?

2 Peter: What are ... Objects in the sky?
Mary: | don't know. Thy're too far away to see properly

3 Wit . benchisn't very comfortable, s it?
Tina: Mo, | don't think Il want to sit here very long.

4 Parul: It's 50 boring and gloomy here.
Depika: | know. Nothing ever happens in ... neighbourhood

5. Emma: I'vehad __ mural on the dining room ceiling ever since | maved into the villa last year
Laura: Oh it's a beautiful design. | can see four cherubs in the sky, with angels and other celestial figures.
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B Complete this passage with possessives.

Lot week, Dvisied . cousin in Ooty and was fascinated tosee beautiful wooden comtage nestled deep
in the woods, Audrey says that [t Is & hand-hewn house decorated on a school teacher's budget. A lightweight fabric
bhung &= a curtain, ensured ample light into ... draweng room. Antique perfume bottles that once belonged 1o
—— mather-in-law held cottage flowers ke lilacs, roses and daisies. The finars were bare, with a single cotton rug
" the kitchen. | was particularly fascinated with the coffes table: —____ legs were painted while, while the surface
wat made of cherry wood. This mismatched colour scheme reminded me of a phrase | had read somewhere: beauty in
Wun.laﬂcedluﬂwuherlﬂuhﬂbﬂhﬂthmmdmmplﬂmtﬂmt.lduﬁnshnpﬁndA.udrwﬁ
#55 an embroidery enthusiast and floral designs are . cup of tea. | could see details such as pretty ribbons and
Buttans on her sweet pillows, and the fabrics were all in shades of soft yellows, lilacs, robin blues and faded pinks. Under
the table, rected o wire baskst that held - Fsvourite books and magarines With _ . two handies, Audrney

emarced, |t was very sturdy, and she often carried it with her when she went 1o gather mushrooms and berries from
the mondy

leh cazy home atter a brief stay, and s | wned back 1o look at .. - simple dwelling one Lt time. &

Fuctation from the French writer, Antoine de Saint-Exupery. came to my mind ‘Perfection is achieved, not when there is
Nathing more 1o add, but when there is nathing left 1o take away’
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c ;Whmmmw'ﬂmmm"mrhmmmﬂmmmklhm
1 Why are you in such ahurry ... time | see you?
7 There were huge bamboo trees on
3 The pamphlets are meant for . visitor
4 It's a pity that . dress fits Pammi.
5 side of a rhombus has the same length,
6 There is an autumn sabe in ... shop in this shopping mall.
7. ...side of this coin has an emblem.
8 You may take half of the sandwich.
| — . bus going in this direction will take you to the raiiway station.
10, ... team scored and the game was a draw.
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D. Complete these sentences with what, which, whose or how many and how much. In S0fme tases, More than one che,

is possible

1 _ colour tiles have you used In your bathroom? .. did they cost?

2 —.. cartons will we require 1o pack these books?

1 curtains do you hke the most—the amber, the aqua or the fern?

4 . dirty socks are lying on my chair? Is it yours, Roger?

5, i money should | save every month to be able to buy a house after five years?

B o, i do you need to finish this painting?

7 .. employees are eligible for bonus?

B . style did he use in his writing?

9 — _ catis trotting through our yard? Does it belong to Miss Amis, our tenant?
10 . are you reading these days?
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E Complete the sentences with some, any, much, many, littke, a little, the little, few, a few and the few.
1 Ravi is 3 fruit vendor He has very ______ education. and he does not eamn money. Howeset with
money he earns, he is able to live comfortably and educate his two daughters.

2. 1 had to abandon my dream of living in my own house for Lack of financial support. If | had recelved . hep
from my siblings, | could have bought & house. However, . help that | received from my _ st
inends wasn't enough and left me completely distraught.

3. The house that Emma inhabits is very small and does nothave _________ modern facilities, She has only
friends who visit her occasionally. a0d ......._. friends who visit her, often complain about her boring #1¢

uneventul life,

Itsnotgoodtoeat1oo . cakes even though they are deliciaus. You'll have to practise,____ seti-estant
had painted ... pictures of the landscape, but she did not taie pride in them.

think youwill have _____ trouble with this vehicle during your journey.

rmwﬂmﬁﬁnﬁubmuhwwlhwdwmmmmqwnmﬂm
hadonly .. experience
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g fwrite the sentences correcting the errors in them, Focus on the use of determiners,
i
1 i For a little days, he neither slept nor ate until he found a solution of the problem.

fl 2 You should retum this gncyclopedia to it's owner immediately,

T

*‘ 1 Have you any idea whi invented reflrigerator?

e

4 There lsn't many water left in the tank, not even little drops.

5 There's a wonderful view from that office. Just come to the window.

& We have received two proposals. Either proposal is acceptable.

7 1know each line of this beautiful poem by heart.

B Generally, Hlm:Iu-HI'I"‘IhaH:mmuﬂ'jrwhhhmMmmfh!gnﬂmuishhhgund:hildﬂminthﬂﬁlmht
has the few coins in his pocket.

8 Snita added & few vanilla essence 1o the mixture.

PETTRESrS———rra—

10, Every day In evening, | go for swim,

S ———— L
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Article

1. You have seen many children working in glass and
other hazardous factories. You are sad to see
this. Write an article for your school magazine giving
your views about Child Labour.

2. Parents today are facing a major problem with their
children. They waste most of their time on Facebook
and other social networking sites, with the result that
their studies and other important activities are
neglected. Write an article on the Pros and Cons of
Social Networking Sites. You are Vinod Kumar.
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Letter

1. You are Sunil Kumar, a resident of B-168 Vijay Vihar.
Write a letter to the Accounts Manager of State Bank
of India for opening a new savings account.

2. You are the Area Manager of your company. Write a
letter to the Director of ICICI Bank- One of your
valuable clients, for the payment of pending arrears
towards your company.
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Short Story

1. Develop a story on the following outlines:

A small boy—lives with mother—develops the habit of

stealing—Mother does not check—develops the habit
when grows—caught—punished

2. Develop a story on the given outlines :

he farmer had four sons—brothers kept quarrelling—
armer wanted to teach a lesson—gave them one stick

ach to break—easily broke—gave a pile of sticks—
could not break—l|earnt a lesson.
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Paragraph
1. Write a Paragraph in about 100-150 words on the topic

A day that | can't forget.

2. Write a Paragraph in about 100-150 words on the topic
The night before the examination.
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Notice

1. You are the Cultural Secretary of your school You have
been asked to inform students of Classes VI to VI
about an Inter-School Dramatics Competition. Draft a
notice in about 50 words to be put up on the school
notice board, with all necessary details.

2. You are Anu Deshmukh/ Anoop Deshmukh, the Sports
Secretary of Laxman Public School, Bhilai. Your school
has decided to host the regional level volleyball
tournament. Draft a notice for your school notice
board inviting all the children of your school to cheer
for the teams.
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1) & wiftew & @Rl ow wfdey @ & fBwg # 10 amg @)

2) 39 & qrEEgErs A s @ v A 20 el & Bew, 20 Rt &
Tt Fur 10 Hert F 34 e aw & ganr i

3) I 3T 39S WA F U g W AEAE F AT A9 J9S T arer
&1 T AEE W weg A o)

4) Imq sfasw & Fur e Ok 3T 7 sEE v A7 10 s @fa)

5) U 9T GE § WE 20 Fi5A e g e aur o AT
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Subject—Sanskrit

1) 1§ ura W aur IEe HY feEe arg S

2) &, &, | qur @ & el ®9 I ol

3) 7\, HH AT F Ui F9 & 9 FEe o 3 F
4) wFpa & w9 A0 96 aur 9% S
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I

. Write the names of various ministers of India along with their
departments.

. Write name of various countries, their capital and their
currencies,

. Write current affairs from 20" May to 30" June.
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Reduce your risk
of COVID-19

'F“"..
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STAY SAFE
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